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The figures in the margiﬁ'indicate :
Jull marks for the questions. -

Answer either in English or in A,'s'samese..

1. Answer the followmg as directed :

1x 10— 10
ﬁm“t Wﬁ TS ﬁﬂm« Tex forar e |
(a) Cost accountmg is a method of

cost.

(Fill in 1 the blank with appropnate word) |

Teriia A feploadt (S | it
<51 TS | (@WW@VIH‘?%WW%
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(b) A
~(Fill § in the blank with appropriate word)

mmwww @RI | -

' '(9)

: 9{@?&5 E‘N
i) - ﬁmshed goods ‘

cost is an irrecoverable cost.

(@vaﬁéf?ww).

_ Indlrect labour is treated. as part of

w%‘t'@mu

(i) - work-in-progress

o TS TGS o4

(iii) faétory overhead

W@ﬂfi@m

: tiv) 'product

@

(Select the correct answer)

(’rﬁas t?@?zﬁ'/ IR @7%\3?7)‘

Matenal 1s .the first element of cost.

(State whether the statement is true or

false)

| wwmewm AL Bolm |

(@‘@ZBWWWW) |
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(e)

method of valuing material

issues is suitable in the nmes of falhng
pnce

(Fill in the blank wlth appropnate word)v

TOIPRAES %‘Fﬂmﬁw
',ﬁ%ﬁﬂﬁasm| y
_ (@ﬂy@mﬁﬁmwﬁ”

' Bin card is a part of accountlng record.

(State whether the statement is true or
false) '

" Bin card mﬁmﬂwmmwl |

@)
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(@l%fcﬁrwmwﬁ’ﬁ)

-’Whlch of the followmg is not a part'of

time-keeping ?

weT il CPIC! R W‘W <ot '»ﬁf% =

(i)  Punch card '
A & "I@

@) Job card

o o3

(i) Attendance register

(iv) None of the above
ARG <GBl T .
: (Select the correct answer)

(wﬁas e aﬂ% Sfjean)
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. () Depreciation' is a semi-variable
' expense..

* (State whether the statement is true or
" false)

mewﬁa@% 4G |-

(@WWWWW)-

»

") What is process costing ? .
| ‘efﬁrr»m immmﬁmwm 2

() Write the meanmg of relevant cost’ in

- cost accountmg

@vnmmfi‘msﬁ% mﬁﬁmamf%am

-An's.wer the following questions : 2X5¥10
| (a) What is the concept of cost ? ,‘
Beellt T 4t P R e

(b) State the meaning of motlon study 1n
labour costing. .

= T RIS 31 g e S

4 (Sem-4/CBCS} HC I/RC (CA)jG 4
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\

(c) ‘State two unportant features of process ,
“costing. '

emeemmﬁmmqa - mw
9

(d) What is operating costing ? o
ST <7 Rplemee IfiE R @y |

| (e) . Name from the following the method of

~ costing and cost unit forn :

’TﬁmWﬁ@ﬁmﬁaﬂaﬁqwﬁW‘
ofS oS gm BEdwA s

(i) Aircraft (ﬁsm)
(ii) Transport" (W) .

Answer any four of the following questions :
| | . 5x4=00

(@ Mention five objectives of cost

accountlng

sewmﬁmmqw@aoﬁmww
1
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o S ' o d) The following data pertain to a material
;- (b) A consignment of sugar- was,_ received @ - g P o :
‘ by Murli Brothers. The invoice reveals o _ L
. the following data, ;" -~ ' | TS Al SAPPR AVEY U7 TS T ¢
AN ”CE’CEIEH'W'T"‘W ATS 9G¥ BleTy AT Supply pcrjbd . 4 to 8 months
- s'alﬁlmﬁ«ﬁlﬂva.EWW' PE .' TR T A ERIER Y A
o Quantity .("fﬁm‘]‘) o | 600 kg |- Consumption Rate . .
Rate per kg & Rmamg 1) 225 o LEaR ‘ - .
'GST (% =% Gy R ' @ 12% | Maximum =~ : 1200 units per month
‘Freight (WeR® 45) 392,130 S Ww 1200 off o e
‘. . ,. . . . . . . . ' Tt . N : . . ﬂ,'l
- After receiving'the consignment, it was : Minimum 600 units per month
‘oticed that there is a' shortage. of e : 600 (1 ofs ME©
232 stf "W.}tlﬁt. $t°¢§ rate would you _ Normal ° : 900 units per month
. or the product assuming a | HoiRE
provision .of 5% towards furtIgler "’ R 200 mﬁ;aﬁ W
" deterioration? = = .. , © Yearly '+ 10800 units
, Wm‘,WfWSOOkgWW o W | ;10800 i . :
Vo1 5% wfoRe Smfs @[t 3f it Storage costs are 50% of stock value
- TS TGO MR ] ol SR oR e ; : SN SIG! IH TGS AY [T 50% .
(c) What is ‘payment by fesult’ meth : - Ordering costs are 400 per order
. _ ; od of . o
labour remuneration? Mention two | =~ . T I oS wee 400 T
acl.vantages and two disadvantages of .| - Price per unit of material ¥ 100
~ this system; 1+(2+2)=5 - o) TR 7S ofS cbs 100 Bt
o TGR{ W‘W QT iR’ i @ ' ' Compute the minimum stock level.
'iﬁ?@imﬁgmﬁﬁmw-ﬁwﬁﬁm, L eN WEe AR B9 Rl 1)
S ) ~ . o
. 5 4 (Sem-4/CBCS) HC 1/RC (CAC)/G 7 Contd.
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o — ” e

' (e) Explam the ﬁvé reasons of abnormél
-~ dle.-time of labour cost.

ST

(ﬂ How is abnormal gain calculated and

. trjea’.téd in process costing ?
B 4 - 2+3=5
TR A 2 Rt A et zmy

- A 10x4=40

(a) ‘What are t_h.e various. costs cl:assified
* under ‘functional classification’ 7 Give

a brief description of each of these.

costs. -

T AR S < By Besm

T ARSI s B2 59 e Beotrem
TR 5Y 3t ety - . |

- (b) Assam Manufacturing Company uses

L (Sem-4/CBCS) HC 1/R¢ a0/ 8

Answer any four of the following questions :”

January

wfifeet | oeTe frl @ Wi R 2023, GG

1 : Opening balance 300kgs at
250/ kg ' 4 .
wRS AR 300ke oS (wfere 50 Gt

January 3 : Purchased 500kgs at ¥52/kg }

. @ 500kg, dfS @fere 52 5

Jénuary-T' . Issued 220kgs

January

. January

R 220 fer
11 : Issued 440kgs
R 440 cofer .
18 : Purchased 490kgs at ¥46/kg.
- T 490 (%, AfS (FlEre 46 T

January. 24 : Issued 300 kgs »

f3fs 300 =fer

| Januéry 28 : Surplus 20kgs returned to store

..out of quantity issued on 7th -
~January o '

SRR 7 eifty RS w0 AR ct

© 20 Ffer awists e

. Prepare Stores Ledger Account for the -

above transaction according to FIFO -
method of pricing issué of materials.

SARIE FHIEIRE 78 FIFO @9 #0wgy

e vee oniw AfsaR Boivt ogs w1
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o () During .the'ﬁrst .week of January 2023,
. the Workman Mr Santosh produCeS _
. 150 artlcles He recelved wages
for a- guaranteed 48 hours- a- Week
@ i 50 per hour. The estlmated tlme to
produce one artlcle is 20 minutes and
-' A under incentive scheme the allowed is

'1ncreased by 20%. Calculate his gross :

wages accordmg to— o

() Piece works. ‘with guaranteed

- weekly wages;

(ii)o Rowan premium bonus plan ;
"(zu) Halsey premlum bonus plan

2023 Wwﬁmﬁwwvﬁ AR
'Wmﬁmwoﬁwmwﬁf“wml

(08 b1 teres 48 w1 o %ot 50 B

4 (Sem-4/CBCS HC 1/RC (CAQy/q 1 o

|

wqﬁml B G R R

s 20 B o1 SrpifRaers wivfe 20%

o T oS 21 Code P TR oS

- ﬁmwwﬁﬁww— |
W w\*ﬁ%ﬁs—éwaﬂrﬁﬁrm@@ﬂ@iﬁ ,

(@)
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(i) T \‘3913?13 51017 WTSﬁ (Rowan' |

Premlum Bonus Plan)

(i) W @'ﬁﬁ@ I Wﬁﬁ (Halsey

'Premum Bonus Plan)

‘Explain ‘under-absorption’ and ‘over-

a‘bsorption’ of overheads. What are the
causes for under and over-absorption

of overheads ? (2+2)+6- 10

_,ewﬁswwmwﬁ@m

W@mwﬁﬁ%wwmw_ '
e cie ded & e
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(e A firm .of building contractors began to
- . trade on Ist April, 2022. Following was-
the expenditure on a contract for
29,00,000 : :

1st.q®a,.202zfsqqﬁﬁm%tﬁwma%ésﬂ

Chafge 15% depreciation on plant and
prepare ‘Contract Accoupt. |
31 W6, 2023 80% F o #Aq &G

Rerfice 4,00,000 7 51 Rotofo e w1
, £ . +ifeT 6,000 TR JI
G ST IS I | ST 30T 9,00,000 oot R 75 AT 6 o
Tt il bR TR B T ¢ TS A% 5,000 T T AVES F©

L (R) B - t 31 6, 2023 4,000 5 7R I@HfS it

S - iz st =, 20,000 59 Seieig 2l T |
 Material issued (49 7 ) 1,44,000 W% 4,600 53 T AVEY JIT KNS
_ Plantissued (@S ®RER) , - 30,000 e AR T o
" Wages inéurrcd (TR) . '1,48,000 | e €oRE 15% mwﬂ%ﬁ%ﬁﬁﬂ
- Other expenses incurred (SFji] ¥*®B) © 30,000 5l e 1| '

Cash received ‘on account of 31st |

' ' () Briefly describe the need for and
March,‘ 2023 amounted to 3 4,00,000; _ j 1

- being 80% of the work certified. Of the

Planf and Materials charged to contract,

~ Plant which cost 3 6,000 and Materials
which cost ¥ 9,000 were lost. On 31st:

March, 2023 Plant cost 24,000 was
returned to stores, the’ ¢

done but uncertifieq ‘was 20,000 and
materials costing ¥ 4,600 we

. were in hand
on site.

ost of work

procedure for integration of Cost -

" Accounting and Financial Accounting.

| .  5+5=10
éewmmﬁsfm i R o ST
AIGINS! T BT PREZART 53 131 |

(@ [) * What is allocation and

apportionment of Qverheads?.

BoifRs T 351 A Rore W e

Contd.
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(i@)' Acompany has four: uéparUnents.
; Thn actual cpSt fnr the peﬁod are
givén 'bclow.- Apporti‘nn the cost to

Vth'e various' dep’_artrnenté by uéing

: ,‘_the most .équita.lble method—

- 2+8=10

qﬁ mwﬁwﬁ%w ﬁw | <1 S

4TS A TS il 21 wivie
e sl - R IR Rfew ﬁ@m

TS 7 Rt W—

. Rent (W) - 5,000
pepreciéﬁon (W) , | A 4,800 |
Supervision (ﬁ%wb | .9',000
.Employers Llablhty Insurance 960
(R o ) |
Insuranc;e @) ’. 3,000

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 14
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. The following data are also available in
" respect of four departments :. - '

| @a—ﬁm—wﬁﬁm«m—@ﬁ%
 Particulars | A ‘B | C | D.
Area (sq. feet) IEERERES 30 |
Number‘ of Workers - | -2 . 16 | 12 | 8
O W - | °

Value of Plant (m %) | 12,0009,000 6,000 | 3,000
Tifes 0 (5 - o 1

“Total Wage's' ® '4,0@0- 3,000 | 2,000 | 1,000 -
v | L

Value of Stock () |-15,000 9,000 |6,000| -
':rer G o TG . |

~(hW A manufacturing company dlsclosed a
net loss. of 2 2,91,000 as per their cost
accounts for the year ended on March
31st, 2023. The following information
was revealed as a result of scrutiny of

" the ﬁgures of both the sets of books

Contd.



31 W6, 2023T G5 FesAwTT R SO
+2,91,000 TR 5 AR (OSGERR Bt
- TN RIS o R | st 98N SUEN

T R Pige wom aiferwam e 1

-
- - | (%) o=t
* Pactory overhead over absorbed’ : 8,000
A Bl T ofoRe el
Administrative overhead underabsorbed 12,000
SR Saife TR (e | SRR
Depreciation charged in financial accounts . 1,10,000
e Rotrs wem 45 - o o
+ Depreciation charged in cost accounts o 1,22,000
AR T oo oo v . . .
Income tax provided : . . '75,0_00 : %
Interest on loans fund in financial accounts - 1,34,000 !
Rt fotote o wom 1% 7 3 | ‘
‘Interest on investments not included in cost accounts - 32,000
@qvmmﬁmwf@mﬁﬁmmmqw |
Trander fees (Credit in financial books) 1 8,000
o (e e @) 4
Stores adjustment (Credit in financial books) 3 4,000 |
ST TR (8 3 ) ) |

Prepare a Recohciliation Statement
from the above information. -

;‘;‘f"@ AT ot e Ao R 1w
i 4 . . | '
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